Christmas Codebreaker
Move each letter forward one place in the alphabet.

e.g. shm becomes tin
	 1     shmrdk

 2     Bgqhrslzr

 3     sqdd

 4     gnkkx

 5     snxr

 6     lhrskdsnd

 7     Idrtr

 8     Qtcnkog

 9     Inrdog

10     adkkr

11     rszq

12     rmnv

13     bghkcqdm

14     bqzbjdq

15     lzmfdq

16     khfgsr

17     oqdrdmsr

18     Rzmsz Bkztr

19     Lzqx

20     hmezms
	21     hbhmf

22     cdbnqzshnmr

23     Mzshuhsx okzx

24     Adsgkdgdl

25     ezhqx

26     rkdhfg

27     sgqdd vhrd ldm

28     bzmckd

29     bzqnk rhmfdqr

30     rgdogdqcr

31     stqjdx

32     bgdrsmtsr

33     rsnbjhmf

34     bzqcr

35     hux

36     qdhmcddq

37     bzjd

38     zmfdkr

39     bghlmdx

40     ozqsx


Christmas Codebreaker
(Solution)

	 1     tinsel

 2     Christmas

 3     tree

 4     holly

 5     toys

 6     mistletoe

 7     Jesus

 8     Rudolph

 9     Joseph

10     bells

11     star

12     snow

13     children

14     cracker

15     manger

16     lights

17     presents

18     Santa Claus

19     Mary

20     infant
	21     icing

22     decorations

23     Nativity play

24     Bethlehem

25     fairy

26     sleigh

27     three wise men

28     candle

29     carol singers

30     shepherds

31     turkey

32     chestnuts

33     stocking

34     cards

35     ivy

36     reindeer

37     cake

38     angels

39     chimney

40     party


This puzzle was compiled in seconds using Toolbox.

For a free trial go to www.discoveryeducationalsoftware.co.uk/toolbox_e.htm
